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CALCULUS 3  SPRING 2010

EXAM 1 REC.INSTR

TO RECEIVE CREDIT YOU MUST SHOW YOUR WORK

(25) 1.

a triangle in 3-space.

. a) find the angle of the triangle at the vertex P in degrees
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The three points P(1,2,-1), 0O(4,0,1) and R(-1,5,1) determine



(20) 2. et a=i+2j+k and b=2i+ 2+ 6k

Find

. a) the vector projection of b onto a , Proj ab =
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@c) the dot product

e (b - Proj _b)-a = L0, -, L,L\‘;; 2y et Y = O



(10) 3. a) Find parametric equations for the line through the point
(1,2,-3) which is perpendicular to the plane\
2x -3y +z =10
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b= 2-3¢
{ 2= -3+t

b) Find the equation of the plane which contains the point (2,-2,3)
and is perpendicular to the line

(x-1)/4 = y/2 = (z-4)/(-1)
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NAME

(10) 4. Find the point of intersection of the two lines given by the

parametric equations

L;: x = 4 +t,y=2-2t, z =4t
L2: x=2+t,y=2t,z=1-2t .

Note that to work this problem you should change the name of the

parameter for one of the lines.
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(25) 5. X = t2, y=%t, z= ﬁz is a parametrized space curve .
Find as functions of t, —t 25 S { _2_3,3
@a) the position vector =r(t) = L +T 3 *
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(10) 6. Find =r(t) if

2cost i + 2t j + 2sint k and r(0) =3 .
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